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MATHEMATICS

Monday October 10 2016

Third Exercise Class: Solutions

Study domain, sign and axis-intercepts of the following functions

• y = x2+6x+5
x2+4x

Domain: R{0} ∪ −4

Sign: positive over (−∞,−5) ∪ (−4,−1) ∪ (0,+∞); negative over (−5,−5) ∪ (−1, 0)

Intercept: x : {−5} ∪ {−1}; y : Impossible

• y =
√

x2−x
x2−5x+6

Domain: (−∞, 0] ∪ [1, 2) ∪ (3,+∞)

Sign: positive over (− inf, 0) ∪ (1, 2) ∪ (3,+ inf); negative Impossible

Intercept: x : {0} ∪ {1}; y : {0}

• y = x− 2−
√
x2 − 2x− 3

Domain: (−∞,−1] ∪ (3,+∞)

Sign: positive over [3, 72); negative (−∞,−1) ∪ (72 ,∞)

Intercept: x : {72}; y : Impossible

• y = (x3 − x)2
x+1
2x−2

Domain: R\{1}

Sign: positive over (−1, 0) ∪ (1,+∞); negative (−∞,−1) ∪ (0, 1)

Intercept: x : {−1} ∪ {0}; y : {0}
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• y =
√
log2(x

2 − 3)

Domain: (−∞,−2] ∪ [2,+∞)

Sign: positive over (−∞,−2] ∪ [2,+∞)

Intercept: x : {−2} ∪ {2}; y : Impossible

• y = x log2

(
x−2
x+2

)
Domain: (−∞,−2) ∪ [2,+∞)

Sign: positive over (−∞,−2) ∪ (2,+∞)

Intercept: x : Impossible; y : Impossible

• y = log2(4x
2 − 3x)

Domain: (−∞, 0) ∪ (34 ,+∞)

Sign: positive over (−∞,−1
4) ∪ (1,+∞); negative (−1

4 , 0) ∪ (34 , 1)

Intercept: x : {1} ∪ {−1
4}; y : Impossible


